O 4:89

ok
To°

)

18 R
@ 9:11=27:33Y uj

7

® 21:24

299t 119y}

&

kel
e}

b2 291 40 YTt

d

® 2:3=40:60°4 %



vl A&

=
o

o
=

. o

AQU7?

@ 6:7=12:14

® 3:5=15:25

@ 4:9=100:225

® 8:10=4:5

® 12:7=24:14



3.

T & Hl9f ghol 25: 359k 22 A

D 1:10
@ 5:7

@ 10:15

® 125:135

Tlo



H] 15 : 272 Thet A= rebi

4.

sHo} Fuict,

Wl Uieo] FUt

2 Fook guiet.
Hojgorra tiro] FUth

ol 10, 100, 1000

o
=

L
__OO

N



q
o= AYY7

@ (12x21) x 36

@ (12x24) + 36

@ (24x36) +12

® (36 x12) x 24

12=24:36 914 B Fole Aom odgre

® (24 +36)+12



S}
=

4:9 2 HHHjE

O
=

%

A

% ofE

op

ot



TIHA L.

O
=

©°ltt. Ox©2] 4t



o= HE H41, H]9] gho] 2 AL Zrol v A o2 YerdH A2
ol AJAY7?
3:4 3:5 12:18
6:10 12:9 9:10
D 3:4=12:9 @ 3:5=9:10
@ 3:5=6:10

@ 12:18=6:10
® 6:10=9:10



9. ol Tqo] AR} 20012, LR} 4572 Uk A
TR o] Tk LR S0) WIS AbA Zhaa Ao v Lhet
RS

5 L
=%






2 om? {IA] AR YERfAIL.

=
—

2
5=cm & o, gol

cm?

.

Ul



Utk o] H4E 100

@ 204 ® 30H @ 40A ® 50H

® 104



13.

182 20% 5919 1.6km

AL Fdod, 143 202 setel= 2 k

TSHA 2.

g

a = km

2l 2527t A5

E
il



5 B

o

ol

—_
fife)

9|

2

3 28000

=

@ 21000

]

O 14000

_Cé

® 42000

=l

@ 35000






16. kg el AolA] 9Fe] Fol 40 L W, Gx O e FHAL. (&,
o A5 gue)

(O©+3): @=2:0©




17.

_E_l,
o)
=y
>
e
o)
4
il

rok
-
19

o ol =
o
N
k=l
H

I
ol
Wl

A2

v
m
5

, 8 &) 62070 AHFUH 3 &9

B se A9 30% YY), = 7

1
8
S
=

1

©
—



18.

~0

=

0

o 117%0] g&Hiet. o] MFole]

O =

ol % F& 7HAAl HEeA A L.

Ct- Zo]-

£ A g7t 7k AL, u

£ nlqole} d7l0]7} 3 : 29 W= Lol Zhag T
A



T gy B

o]
1=

1A 77O did o] ul 7 : 4

51=
F2ae]

=4, 9

7

, AEEHAL §e 9 vl 3

ol

Tor

147k

T
o
B

B

F-

C
==

a



20.

Skl
NAE B21, e
Q7] T84 &,

QA 6A

agzi?ﬂ

o]

AAZE 7v=71E

B2 7] 71 AAZE e ol e o 9 Aol 4
12t

3l
1o
1

S}
—
(2]

=

4

o}



